Name: /
Grade: Work A o
pate: otksheet Kids
Solve each equation.
1) —40 =4r 2) “4=8+n
A) |—44| B) {36/ 1
09l D)0 A {—5 B) =32
C) -12] D) 4|
3) x+(-1)=7 4) n+12=-4
A) (8] B) (6] 1
) 7] D) {19] A) 48 ® {_3=
C) [-16) D) {8
5) x—(-17)=34 6) —13x=-39
A) {-17) B) {51] A) {-52] B) {-26|
C) {17] D) {-2] C) 3] D) (5|
7) —12=2 8) =20
A) {-17] B) {-60) A) (22 B) {40
0 {_Z%I D) (7] C) {10} D) {18
9) 9+n=3 10) 29 =m + 14
A) {_%l B) [12] A) {15 B) {—2}1
C) || D) [-27) Okl D Pﬁl
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Solve each equation.

1) —40 =4r 2) “4=8+n
A) |—44| B) {36/ 1
O 9l D) I-10) A {—5 B) =32
*C) |-12] D) 4|
3) x+(-1)=7 4) n+12=-4
*A) 18] B) (6] 1
O 7 D19 A B) {_5=
*C) {-16] D) {8
5) x—(-17)=34 6) —13x=-39
A) {-17) B) {51] A) {-52] B) {-26|
*C) {17} D) {-2] *C) 3] D) (5|
7) —12=2 8) =20
A) {-17] *B) {60 A) (22 *B) {40
of o o fio] D) 18]
9) 9+n=3 10) 29 =m + 14
A) {_%] *B) {12} *A) {15} B) {_2}1
C) || D) [-27) Okl D Pﬁl
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Solve each equation.

1) x—(-15)=25 2) —18b=-342
2 A) |-11] B) {20}
A) {‘15} B) (10 C) 19) D) (14]
) 13 D) {40]
3) b—13=-27 4) 26 =n-15
A) [L13) B) L A) |41} B) {-11]
13 11
0 (40 D) i—m} l o {_13[ D i
5) %:5 6) 5=%
A) {15 B) (50| A) {75 B) {20f
0 {%} D) |-5] 0 {%} D) -10]
7) 12=v-(-9) 8) -9 =n+(-5)
DB Bl YRV 1%}
aus D {_15} C) (-4 D) (45)
9) 24=-14—gq 10) -3 =p +(-14)
5 3
A) |-10 B) {17} A) {ﬁl B) {11}
C) (38 D) {10} C) (42} D) |-17]
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Solve each equation.
1) x—(-15)=25

A) {—1%} *B) {10}

C) 3| D) {40]
3) b—13=-27
1
A) [-13] B) {—2E

C) |—40 *D) {—14]

5) %:5
A) {15} *B) {50f
9 {%} D) 5]
7) 12=v-(-9)
*A) {3 B) {21]
C) {15} D) {—1%}
9) 24=-14—gq
5
A) |-10 B) {17}

C) -38)  *D) {10]

2) —18b=-342
A) (11

*C) [19]

4) 26=n-15

A) |41}

C) {—1£
15

X

6) 5=—

15
*A) (75|

ol

8) -9 =n+(-5)

A) 14

*C) |4

B) {20
D) (14|

“B) |11
D) {2

B) {20f
D) {-10}

B) {1_}
D) {45

10) -3=p+(-14)

3
M
C) (42}

|

“B) [11]

D) {-17|
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Solve each equation.

1) 48 =—12m
A) 4] B) |-6]
C) {60} D) {36
3) 4=2b
A) 2] B) (6]
C) 1] D) 8]
r 9
V8T
A) (-9 B) ]—9%}
7 9
ol ml
7) 17:?
A) (85 B) 3%[
C) {22 D) {12}
9) 3=x+4
A) {%[ B) [-1]
) {12 D) {7}

2) 16+ x=11

A) -5
9 {ig

4) 112 =-8x

A) [-13]
O {2f

6) —=-6

12
A) |-72|

0) [-18]

8) 50 =5m
A) 2
C) {10}

10) 126 = 18n

A) {20
C) {20}

B) {27]
D) {1}

B) {6}

B) (45|
D) {55]

B) 7]
D) |-18]

©WorksheetKids 2024

www.worksheetkids.com



Name:
Grade: ‘/ .
Worksheet %db

Date: Sharing £rowlsdpe

Solve each equation.

1) 48=—12m 2) 16+x=11
*A) |4 B) {6 *A) |-5) B) 27|
C) {60 D) (36 0 {1} D) (1]
16
3) 4=2b 4) 112 =-8x
*A) [2f B) {6} A) -13] B) {6}
C) {1 D) (8] O {2f *D) {-14]
r 9 a
5) gz_g 6 E=—6
fAY [ ol *A) |72 B) (6]
A 97} ®) ] 998} C) (-18} D) {—%l
ol w2
x 8) 50 =5m
N 7= 5 A) 2} B) (45
o) [59 B | %l *C) {10 D) {55]
) {22f D) {12]
9) 3=x+4 10) 126 = 18n
A 3 *B {_1} A) {20} *B) {7}
: {4[ ) C) {-20] D) |-18|
C) {12 D) |7}
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Solve each equation.

D 12=" 2) 5a=-40
8 A) {35 B) (9]
) {1 % ; B) (9] C) |-45] D) {-8]
C) {4 D) {20
3) 10 = p +(-18) H17=12+r
5 A) {17] B) {5}
M ? 15} C) 1> D) {29
C) 28| D) {-1] { 12}
5) 126 =-7b 6) 3—p=-2
A) |-14f B) |-12] A) -5 B) |-1j
C) {3 D) |-18| o 1) D) E[
7) =306 = —18x 8) x—(-2)=-18
A) -2 B) {17 A) {-20] B) (9]
C) {-9] D) {-19f C) {36 D) {-16|
9) —4:;;—12 10)%:
A) {—5] B) |16 N
C) 18| D) 48] ) {E[ B) 18]
) {15} D) {2
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Solve each equation.

n
1) 12=—
) 8

A) {1 %} *B) {96
C) 14 D) {20}

3) 10 =p +(-18)

x S
S
C) {28 D) {-1]

5) 126 = —7b
A) [-14] B) |-12f
O3 D) |18

7) —306 =—18x
A) =2} *B) {17
09 D) |19

9) -4=x-12
A) {—%] B) [-16]

“C) 8] D) (48

2) 5a=-40
A) [-35] B) [9]
C) {-45) “D) {8

4 17=12+r
A) {17 *B) 5|
C) {1%} D) {29}

6) 3-p=-2
A) =50 *B) [
o 1] D) {%[

8) x—(-2)=-18

*A) (20} B) {9]
C) {36] D) {-16]
10) gz

A) {%[ B) [8|
*C) [15] D) (-2
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